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(Ss-1)

o Vs v, s G 6/6, E L @
/sy | (kN/m) (< 10°N/mm?) | (><10°N/mm) (><10°N/mm7) | (%)

+5.0 107 18.6 0.33 0.130 0.217 0.60 0.346 10 | 3.8
+1.2 154 18.6 0.33 0.202 0.450 0.45 0.537 13 | 3.9
2.7 182 18.6 0.33 0.251 0.628 0.40 0.668 14 | 3.5
-6.2 201 18.6 0.33 0.283 0.766 0.37 0.753 15 | 3.5
-9.7 217 18.6 0.33 0.321 0.893 0.36 0.854 15 | 3.2
-12.9 230 18.6 0.33 0.340 1.00 0.34 0.904 16 | 3.2
-16.1 246 18.6 0.33 0.264 1.15 0.23 0.702 48 | 5.1

-21.2
540 16.9 0.43 4.37 5.03 0.87 12.50 3 140.8
-62.0 590 16.9 0.43 4.98 6.00 0.83 1424 3 [15.0
-77.0 620 16.9 0.43 5.42 6.62 0.82 15.50 3 |26.0
-103.0 650 16.9 0.43 5.82 7.28 0.80 16.65 3 |25.0

-128.0
670 16.9 0.43 5.88 7.74 0.76 16.82 3 |64.0

-192.0
690 16.9 0.43 6.39 8.20 0.78 18.28 3 192.0

-284.0
730 16.9 0.43 9.18 9.18 - 26.25 - -

000
()Eﬁ!h
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(Ss-2)

o Vs v, s G 6/6, E L @
/sy | (kN/m) (< 10°N/mm?) | (><10°N/mm) (><10°N/mm7) | (%)

+5.0 107 18.6 0.33 0.101 0.217 0.47 0.269 20 [ 3.8
+1.2 154 18.6 0.33 0.121 0.450 0.27 0.322 21 [ 3.9
-2.7 182 18.6 0.33 0.125 0.628 0.20 0.333 21 [ 3.5
-6.2 201 18.6 0.33 0.153 0.766 0.20 0.407 20 [ 3.5
-9.7 217 18.6 0.33 0.196 0.893 0.22 0.521 19 [ 3.2
-12.9 230 18.6 0.33 0.240 1.00 0.24 0.638 19 [ 3.2
-16.1 246 18.6 0.33 0.299 1.15 0.26 0.795 19 [ 5.1

-21.2
540 16.9 0.43 4.52 5.03 0.90 12.93 3 140.8
-62.0 590 16.9 0.43 5.34 6.00 0.89 15.27 3 [15.0
-77.0 620 16.9 0.43 5.95 6.62 0.90 17.02 3 |26.0
-103.0 650 16.9 0.43 6.47 7.28 0.89 18.50 3 |25.0

-128.0
670 16.9 0.43 6.88 7.74 0.89 19.68 3 |64.0

-192.0
690 16.9 0.43 7.21 8.20 0.88 20.62 3 192.0

-284.0
730 16.9 0.43 9.18 9.18 - 26.25 - -

000
()Eﬁ!h
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(Ss-3)

o Vs v, s G 6/6, E L @
/sy | (kN/m) (< 10°N/mm?) | (><10°N/mm) (><10°N/mm7) | (%)

+5.0 107 18.6 0.33 0.119 0.217 0.55 0.317 12 [ 3.8
+1.2 154 18.6 0.33 0.171 0.450 0.38 0.455 16 | 3.9
-2.7 182 18.6 0.33 0.163 0.628 0.26 0.434 21 [ 3.5
-6.2 201 18.6 0.33 0.130 0.766 0.17 0.346 28 | 3.5
-9.7 217 18.6 0.33 0.107 0.893 0.12 0.285 31 [ 3.2
-12.9 230 18.6 0.33 0.110 1.00 0.11 0.293 34 3.2
-16.1 246 18.6 0.33 0.138 1.15 0.12 0.367 32 [ 5.1

-21.2
540 16.9 0.43 4.57 5.03 0.91 13.07 3 140.8
-62.0 590 16.9 0.43 5.40 6.00 0.90 15.44 3 [15.0
-77.0 620 16.9 0.43 5.89 6.62 0.89 16.85 3 |26.0
-103.0 650 16.9 0.43 6.40 7.28 0.88 18.30 3 |25.0

-128.0
670 16.9 0.43 6.65 7.74 0.86 19.02 3 |64.0

-192.0
690 16.9 0.43 6.97 8.20 0.85 19.93 3 192.0

-284.0
730 16.9 0.43 9.18 9.18 - 26.25 - -

000
()Eﬁ!h
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(Ss-4)

o Vs v, s G 6/6, E L @
/sy | (kN/m) (< 10°N/mm?) | (><10°N/mm) (><10°N/mm7) | (%)

+5.0 107 18.6 0.33 0.0998 0.217 0.46 0.265 10 [ 3.8
+1.2 154 18.6 0.33 0.126 0.450 0.28 0.335 12 [ 3.9
-2.7 182 18.6 0.33 0.163 0.628 0.26 0.434 13 [ 3.5
-6.2 201 18.6 0.33 0.222 0.766 0.29 0.591 14 [ 3.5
-9.7 217 18.6 0.33 0.276 0.893 0.31 0.734 14 [3.2
-12.9 230 18.6 0.33 0.310 1.00 0.31 0.825 14 [3.2
-16.1 246 18.6 0.33 0.356 1.15 0.31 0.947 14 [ 5.1

-21.2
540 16.9 0.43 4.67 5.03 0.93 13.36 3 140.8
-62.0 590 16.9 0.43 5.52 6.00 0.92 15.79 3 [15.0
-77.0 620 16.9 0.43 6.02 6.62 0.91 17.22 3 |26.0
-103.0 650 16.9 0.43 6.55 7.28 0.90 18.73 3 |25.0

-128.0
670 16.9 0.43 6.88 7.74 0.89 19.68 3 |64.0

-192.0
690 16.9 0.43 7.05 8.20 0.86 20.16 3 192.0

-284.0
730 16.9 0.43 9.18 9.18 - 26.25 - -

000
()Eﬁ!h
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(Ss-5)

o Vs v, s % 6/6, E L@
m/s) | (/) (< 10°N/mm?) | (><10°N/mm?) (><10°N/mn7) | (%)

+5.0 107 18.6 0.33 0.125 0.217 0.58 0.333 10 | 3.8
+1.2 154 18.6 0.33 0.171 0.450 0.38 0.455 14 | 3.9
-2.7 182 18.6 0.33 0.169 0.628 0.27 0.450 17 | 3.5
-6.2 201 18.6 0.33 0.130 0.766 0.17 0.346 19 | 3.5
-9.7 217 18.6 0.33 0.107 0.893 0.12 0.285 20 | 3.2
-12.9 230 18.6 0.33 0.090 1.00 0.09 0.239 21 | 3.2
-16.1 246 18.6 0.33 0.081 1.15 0.07 0.214 21 [ 5.1

-21.2
540 16.9 0.43 4.57 5.03 0.91 13.07 3 |40.8
-62.0 590 16.9 0.43 5.34 6.00 0.89 15.27 3 [15.0
-77.0 620 16.9 0.43 5.75 6.62 0.87 16.45 3 |[26.0
-103.0 650 16.9 0.43 6.26 7.28 0.86 17.90 3 [25.0

-128.0
670 16.9 0.43 6.42 7.74 0.83 18.36 3 |64.0

-192.0
690 16.9 0.43 6.47 8.20 0.79 18.50 3 192.0

-284.0
730 16.9 0.43 9.18 9.18 - 26.25 - -

000
()Eﬁlh
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(Ss-1)

(Hz)
1 0.439 2.28 1.574
2 0.217 4.61 -0.611
3 0.098 10.22 -0.075
4 0.076 13.23 0.203
5 0.059 16.83 -0.104
(Hz)
1 0.324 3.09 5.253
2 0.281 3.56 -4.304
3 0.082 12.19 0.098
4 0.059 16.82 0.363
5 0.058 17.19 0.372

(Hz)
1 0.439 2.28 1.573
2 0.217 4.60 -0.611
3 0.098 10.17 -0.072
4 0.077 13.00 0.181
5 0.057 17.48 ~0.090

eed
¢) mmEh
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(Ss-2)

(H2)
1 0.428 2.34 1.581
2 0.211 4.73 -0.622
3 0.097 10.27 -0.077
4 0.076 13.24 0.215
5 0.059 16.84 -0.111
(H2)
1 0.311 3.21 7.019
2 0.280 3.57 -6.075
3 0.082 12.19 0.106
4 0.059 16.83 0.383
5 0.058 17.21 0.393

(Hz)
1 0.428 2.33 1.580
2 0.211 4.73 -0.623
3 0.098 10.22 -0.074
4 0.077 13.01 0.193
5 0.057 17.49 -0.096
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¢) mmEh
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(Ss-3)

(H2)
1 0.427 2.34 1.581
2 0.211 4.74 -0.624
3 0.098 10.23 -0.075
4 0.077 13.01 0.194
5 0.057 17.49 -0.097

(Hz2)
1 0.427 2.34 1.582
2 0.211 4.74 -0.624
3 0.097 10.27 -0.077
4 0.076 13.24 0.217
5 0.059 16.84 -0.112
s (H2)
1 0.313 3.20 6.777
2 0.280 3.57 -5.833
3 0.082 12.2 0.105
4 0.059 16.8 0.381
5 0.058 17.2 0.391
1
e
¢) ==EN
TERCD
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(Ss-4)

(Hz)
1 0.423 2.36 1.586
2 0.209 4.79 -0.629
3 0.097 10.29 -0.078
4 0.076 13.25 0.222
5 0.059 16.85 -0.114
(Hz)
1 0.310 3.23 7.409
2 0.280 3.57 -6.466
3 0.082 12.19 0.108
4 0.059 16.83 0.386
5 0.058 17.21 0.396

(Hz)
1 0.423 2.36 1.584
2 0.209 4.78 -0.629
3 0.098 10.24 -0.076
4 0.077 13.02 0.199
5 0.057 17.49 -0.099
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(Ss-5)

(Hz)
1 0.429 2.33 1.581
2 0.212 4.72 -0.622
3 0.097 10.26 -0.077
4 0.076 13.24 0.214
5 0.059 16.84 -0.110
(Hz)
1 0.316 3.17 6.229
2 0.281 3.56 -5.283
3 0.082 12.19 0.103
4 0.059 16.83 0.375
5 0.058 17.20 0.385

(H2)
1 0.429 2.33 1.580
2 0.212 4.71 -0.622
3 0.098 10.22 -0.074
4 0.077 13.01 0.192
5 0.057 17.49 -0.095
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¢) mmEh
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2450

18. 00

12.80

5.30

-2.70

-9.70

-16.10

-25.10

-32. 50

-40.00
0

2000

(c

3000
m/s2)

(cm/s?)

Ss-1 Ss-2 Ss-3 Ss-4 5s-b
2036 911 817 532 679
1378 750 719 408 490
1133 692 675 347 400
1036 658 642 305 379
475 537 587 258 373
909 554 530 235 367
968 522 484 240 360
960 501 471 251 353
912 486 450 255 344
869 454 424 248 343
819 451 426 258 341

- ———38s2

36. 00

- 85-3

- §5-4

— e ss_
TMSL, |
Lm)

t]

24.50

18. 00

12,80

5.30

-2.70

-9.70

-16.10

-25.10

-32 50

-40. 00
0

1000

2000

(cm/s?)

2000

cm/s?)
Ss-1 Ss-2 5s-3 Ss-4 Ss-5

1811 2020 800 658 738
1395 1590 19 540 611
1158 1284 680 504 542
1047 1184 646 495 506
975 107 588 476 461
913 1091 528 458 425
970 855 484 449 305
960 825 472 428 370
908 762 450 430 3
873 769 423 427 325
821 7 426 431 323
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———5s-2
..... Ss-3 (cn/s%)
T.M.S.L.(m) —-—-Ss-4 Ss-1 | Ss-2 | Ss-3 | Ss-4 | Ss-5 sy
cm/s
—--—5s-5
0 = | 1353 | 584 | 616 | 367 | 288 4000
oy | |
' ' : | |
b |
N | 6000 |~~~
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d e | \
I
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16.1 ; ol | 826 405 | 502 | 253 & 248 ss-3 | 616 1314 2290 3108
I
E l l Ss-4 367 545 809 1000
| |
'
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( " : : :
. | |
. | |
-32.5 ! L | | 760 | 346 | 505 | 231 | 239
o
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TMS.L
36.0 Ss-1 Ss-2 Ss-3 Ss-4 Ss-5
245 CRF 0.14 0.06 0.06 0.04 0.05
18.0 3F 0.14 0.07 0.07 0.04 0.05
128 2F 0.09 0.05 0.05 0.03 0.03
53 1F 0.16 0.10 0.09 0.05 0.06
27 B1F 0.35 0.14 0.13 0.06 0.08 2.0
_9.7 B2F 0.32 0.13 0.13 0.06 0.08
161 B3F 0.32 0.13 0.13 0.06 0.08
951 B4F 0.33 0.13 0.13 0.06 0.09
325 B5F 0.50 0.14 0.13 0.07 0.11
280
¢) EREN
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TMS.L
36.0 Ss-1 Ss-2 Ss-3 Ss-4 Ss-5
245 CRF 0.10 0.11 0.05 0.04 0.04
180 3F 0.14 0.16 0.07 0.05 0.06
198 2F 0.10 011 0.06 0.04 0.05
53 1F 017 0.25 0.10 0.08 0.08
97 B1F 0.30 0.46 0.13 0.10 0.10 2.0
97 B2F 031 043 0.13 0.10 0.10
_16.1 B3F 0.35 045 0.13 011 0.10
o5 q B4F 0.38 0.42 0.13 011 0.10
395 B5F 0.51 0.27 013 013 0.11
089
¢) RREN
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No

kN kN
2s-100>100><10 [ 402 980
615 980
402 980
2ls-100%100<10 ||
\
215-130><1309 Il s01 1173
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|
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42.0
3.75 3.45 T 3.45 T 3.45 T 3.45 T 3.45 3.45 _ 3.45 T 3.45 _ 3.45 T 3.45 T 3.75
T.M.S.L.36.0 U1 Uz Us Us Us Us U7 Us Us U1o Un U1z
] A s o S > 5
(z; <>>N <a>m QSQ (e>¢, Vel Ve \/>c,,\/§ \,>:/ 2
@ D2 D3 D4 Ds Ds D7 Ds Do Dio D D12
rF
(N/mm?) (N/mm?)
125.5 357
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186.7 328
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115.9 357
250.6 258 0.98 Ls 2Cs-250>=<90>=<9>=<13
237.5 346
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